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QUESTION 1

Given the SQL statement: CREATE ALIAS total_sales FOR sales Which statement is valid?
A. SALES can be the name of a schema.

B. SALES can be the name of a package.

C. SALES can be the name of an existing alias.

D. SALES can be the name of a declared global temporary table.

Correct Answer: C

QUESTION 2

Which action needs to be performed in order to complete the definition of an application-period temporal table?
A. A transaction-start-id column must be defined for the table.

B. A history table must be defined and associated with the base table.

C. ABUSINESS_TIME period must be specified in a CREATE or ALTER of the table.

D. A unique index must be created that prevents overlapping of the BUSINESS_TIME period of the table.

Correct Answer: C

QUESTION 3

When is it appropriate to use a sequence?

A. When you want to control the order in which triggers are fired.

B. When you want to control the order in which stored procedures can be invoked.

C. When you want to automatically generate a numeric value that is not tied to any specific column or table.
D. When you want to automatically generate a numeric value for each row that is added to a specific table.

Correct Answer: C

QUESTION 4
Which product replaced the Control Center used in versions prior to DB2 v10?
A. IBM Data Studio

B. IBM Administrator
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C. IBM Data Manager
D. IBM Command Center

Correct Answer: A

QUESTION 5

Which SQL statement should be used to retrieve the minimum and maximum salaries (SALARY) for each job code
(JOB), sorted by job code, from a table named EMPLOYEE?

A. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY job ORDER BY job;

B. SELECT job, MIN(salary), MAX(salary) FROM employee ORDER BY job;

C. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY SALARY ORDER BY job;

D. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY MIN(salary), MAX(salary) ORDER BY job;

Correct Answer: A
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